

微積4 学年末 2019年度

1~3: 臨時2の問1, 2, 7

試験答案用紙

4. (1) [1] $\lambda^2 + 1 = 0 \therefore \lambda = \pm i \therefore y = C_1 \cos x + C_2 \sin x$
 [2] $L(y) = 3e^{ix}, \eta = 3 \frac{1}{(D-i)(D+i)} e^{ix} = \frac{3}{2i} e^{ix} \int dx$
 $= \frac{3x}{2i} (\cos x + i \sin x) \therefore y = C_1 \cos x + C_2 \sin x - \frac{3}{2} x \cos x$

(2) [1] $\lambda^2 + \lambda - 6 = 0 \therefore \lambda = +2, -3 \therefore y = C_1 e^{2x} + C_2 e^{-3x}$
 [2] $\eta = \frac{1}{(D+3)(D-2)} e^{-3x} = -\frac{1}{5} e^{-3x} \int dx = -\frac{x}{5} e^{-3x}$
 $\therefore y = C_1 e^{2x} + C_2 e^{-3x} - \frac{x}{5} e^{-3x}$

(3) [1] $\lambda^2 - 2\lambda - 3 = 0 \therefore \lambda = 3, -1 \therefore y = C_1 e^{3x} + C_2 e^{-x}$
 [2] $L(y) = \frac{-x+1}{3x+2} \therefore y = C_1 e^{3x} + C_2 e^{-x}$

(4) $|A - \lambda E| = \lambda^2 + 4\lambda + 3 = (\lambda+1)(\lambda+3) = 0 \therefore \lambda_1 = -3, \lambda_2 = -1$
 $\lambda_1: \begin{pmatrix} 1 & 1 \\ 1 & 1 \end{pmatrix} \rightarrow x_1 = \begin{pmatrix} 1 \\ -1 \end{pmatrix}$
 $\lambda_2: \begin{pmatrix} -1 & 1 \\ 1 & -1 \end{pmatrix} \rightarrow x_2 = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$
 $\frac{d}{dt} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} -3 & 0 \\ 0 & -1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} + \begin{pmatrix} -e^{2t} \\ 0 \end{pmatrix}$
 $x' + 3x = -e^{2t} \rightarrow x = -\frac{1}{5} e^{2t} + c_1 e^{-3t}$
 $y' + y = 0 \therefore y = c_2 e^{-t}$
 $\begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ -1 & 1 \end{pmatrix} \begin{pmatrix} x \\ y \end{pmatrix} = \begin{pmatrix} x+y \\ -x+y \end{pmatrix}$
 $\therefore x = c_1 e^{-3t} + c_2 e^{-t} - \frac{1}{5} e^{2t}$
 $y = -c_1 e^{-3t} + c_2 e^{-t} + \frac{1}{5} e^{2t}$

5. $p = \frac{dy}{dx}$ とおくと $\frac{d^2y}{dx^2} = \frac{dp}{dx} = \frac{dp}{dy} \frac{dy}{dx} = p \frac{dp}{dy}$
 原方程式に代入: $(y+1)p \frac{dp}{dy} + p^3 = 0 \rightarrow \frac{dp}{dy} = -\frac{p^2}{y+1}$
 $\int \frac{1}{p^2} dy = -\int \frac{dy}{y+1} + C_1, \frac{1}{p} = \log|y+1| + C_1$
 $\frac{dy}{dx} = \frac{1}{\log|y+1| + C_1} \int (\log|y+1| + C_1) dy = \int dx + C_2$
 $(y+1) \log|y+1| - \int dy + C_1 y = x + C_2$
 $\therefore (y+1) \log|y+1| + C_1 y = x + C_2$

6. $y' = \sum_{n=1}^{\infty} n a_n x^{n-1}, y'' = \sum_{n=2}^{\infty} n(n-1) a_n x^{n-2}$
 ① 代入 $\sum_{n=2}^{\infty} n(n-1) a_n x^{n-2} - \sum_{n=2}^{\infty} n(n-1) a_n x^n - \sum_{n=1}^{\infty} 2n a_n x^n + \sum_{n=0}^{\infty} 6a_n x^n = 0$
 $\therefore \sum_{n=2}^{\infty} n(n-1) a_n x^{n-2} = \sum_{n=0}^{\infty} (m^2 + m - 6) a_m x^m$
 $\sum_{m=0}^{\infty} (m+2)(m+1) a_{m+2} x^m = \sum_{m=0}^{\infty} (m+2)(m+1) a_{m+2} x^m$
 $\therefore a_{m+2} = \frac{(m+3)(m-2)}{(m+2)(m+1)} a_m, a_2 = \frac{3 \cdot (-2)}{2 \cdot 1} a_0 = -3 a_0$
 $y(0) = a_1 = 0$ $y = (1 - 3x^2) a_0$

7. $y'' + \omega^2 y = e^{i\omega x}$
 $\omega \neq \omega_0 \Rightarrow \eta = \text{Im} \left(\frac{1}{b^2 + \omega^2} e^{i\omega x} \right) = \frac{1}{\omega^2 - \omega_0^2} \sin \omega x$
 $\omega = \omega_0 \Rightarrow \eta = \text{Im} \left(\frac{1}{(D-i\omega)(D+i\omega)} e^{i\omega x} \right)$
 $= \text{Im} \left(\frac{1}{2i\omega} e^{i\omega x} \frac{1}{D} 1 \right) = \text{Im} \left(-i \frac{x}{2\omega} e^{i\omega x} \right)$
 $= -\frac{x}{2\omega} \cos \omega x = -\frac{x}{2\omega} \cos \omega x$

8. (1) $y' = de^{2x}, y'' = d^2 e^{2x}$
 $d^2(x+1) - d(2x+3) + 2 = d(d-2)x + (d-1)(d-2) = 0$
 $\therefore y_1 = e^{2x}$
 (2) $y'' - \frac{2x+3}{x+1} y' + \frac{2}{x+1} y = 0$
 $\int \frac{2x+3}{x+1} dx = \int (2 + \frac{1}{x+1}) dx = 2x + \log|x+1|$
 $\therefore \exp([2]) = (x+1)e^{2x}$
 $y_2 = e^{2x} \int \frac{(x+1)e^{2x}}{e^{4x}} dx = \int (x+1)e^{-2x} dx$
 $= e^{-2x} \left\{ -\frac{1}{2}(x+1)e^{-2x} + \frac{1}{4}e^{-2x} \right\} = \frac{1}{4} e^{-2x} (2x-3)$
 (3) $y = C_1 e^{2x} + C_2 (2x+3)$

9. $W(y_1, y_2) = \begin{vmatrix} \sin x & \sin(x+d) \\ \cos x & \cos(x+d) \end{vmatrix}$
 $= \sin x \cos(x+d) - \cos x \sin(x+d) = \sin(x-d)$
 $= -\sin d \therefore d = 0, \pi$ 線形従属, $d \neq 0, \pi$ 線形独立

10. $t = \log x$ と置換 $\frac{dy}{dx} = \frac{dy}{dt} \frac{1}{x}, \frac{d^2y}{dx^2} = -\frac{1}{x^2} \frac{dy}{dt} + \frac{1}{x^2} \frac{d^2y}{dt^2}$
 $\frac{d^2y}{dt^2} - \frac{dy}{dt} + y = 0$
 $\lambda^2 - \lambda + 1 = 0 \Rightarrow \lambda = \frac{1 \pm \sqrt{-3}}{2}$
 $y = e^{2t} (3e^{2t} + 2) = e^{2 \log x} (3x^2 + 2) = x^4 + 2x^2$

番号

氏名

16
17
18
19
20

16
17
18
19
20

OK 番号 3